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Simplest possible switching. One @_\,Oa_jm switch.
When the tip of the F/S Jack Is grounded (or MSI1D
so is the wiper of the pot. Useful for turning on
vikrato or off reverk.
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Same as previous but oadds LED indicator - use an
odd L number for LED on when tip is shorted to
ground - even for LED on when tip is not shorted
to ground.

Note — as shown the
LED will light when the
series resistance is
high and the shunt
resistance Is low.
Switch the cells for
the opposite or put
the indicator on L4
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Above is an example of 2 OULoomoc_Wﬂv__)m used on
one signal. By using opposite L outputs you get
the maximum amount of signal off and signal an

potentlal,
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2 Choannel shunt switching with indicators. Use
whichever L setup works for your system Just
remember that the evens are high resistance/dark
when the odds are low reslstonce/light. As shown
L2 will be light when L1 goes high.
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Channel Switching options., Above is an example of o
dual switch used on one signal. By using opposite
cell switches you get maximum amount of signal off
and on potential, Drawing In wires was fun but It
starts to become a mess so they are ammited
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¥note Jumper | position* This mos+,_._©|§__>9.:os uses o
2 button footswitch, The tip (or MSL> will switch
between L1 and L2 indicated by L3 and the ring
(or MS2) will switch between L4 and LS Indicated by
L6,




